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PHẦN TRẮC NGHIỆM (3điểm)
SECTION 1 (1mark)
Identify each of the following sentences as analytic, synthetic, or contradiction. (1 mark – 0.1 each)
The sentence Triangles have three sides is _______.
A. An analytic sentence
B. A synthetic sentence 
C. A contradictory sentence
ANSWER: A 
The sentence Peter’s sister, whose name is Anna, is a gorgeous woman is _______.
A. A synthetic sentence 
B. An analytic sentence 
C. A contradictory sentence
ANSWER: A
The sentence Pigeons are birds is _______.
A. An analytic sentence
B. A synthetic sentence 
C. A contradictory sentence
ANSWER: A 
The sentence Anna is her mother’s sister is _______. 
A. A contradictory sentence 
B. An analytic sentence
C. A synthetic sentence 
ANSWER: A
The sentence Mr. Smith is a batman is _______.
A. A contradictory sentence 
B. An analytic sentence
C. A synthetic sentence 
ANSWER: A
The sentence John has worked as a lawyer for 5 years is _______. 
A. A synthetic sentence 
B. An analytic sentence 
C. A contradictory sentence
ANSWER: A
The sentence There are 40 students in her class is _______.
A. A synthetic sentence 
B. An analytic sentence 
C. A contradictory sentence
ANSWER: A
The sentence John is not a robot is _______.
A. An analytic sentence
B. A synthetic sentence 
C. A contradictory sentence
ANSWER: A 
The sentence Someone has stolen my computer is _______. 
A. A synthetic sentence
B. An analytic sentence
C. A contradictory sentence
ANSWER: A
The sentence All humans are mortal is _______.
A. An analytic sentence 
B. A synthetic sentence
C. A contradictory sentence
ANSWER: A

SECTION 2 (2 marks)
What kind of speech act is performed through making each of the following utterances? (2 marks, 0.2 each)
 “Vietnam has seen no COVID-related fatalities for nine consecutive days.”
A. Representative
B. Declarative
C. Expressive
D. Directive
E. Rogative
F. Commissive
ANSWER: A
 “My boss made me redo my report because he wasn’t satisfied with it.”
A. Representative
B. Declarative
C. Expressive
D. Directive
E. Rogative
F. Commissive
ANSWER: A
“Thank you for thinking of me, I really appreciate it”
A. Expressive
B. Declarative
C. Representative
D. Directive
E. Rogative
F. Commissive
ANSWER: A
“Hey, it’s lovely to see you.”
A. Expressive
B. Declarative
C. Representative
D. Directive
E. Rogative
F. Commissive
ANSWER: A
“I will tell everyone. This is a threat, not a promise.”
A. Commissive
B. Declarative
C. Representative
D. Directive
E. Rogative
F. Expressive
ANSWER: A
 “Could you lend me your dictionary?”
A. Directive
B. Declarative
C. Representative
D. Commissive
E. Rogative
F. Expressive
ANSWER: A
“I sentence you to 10 years in prison.”
A. Declarative 
B. Directive
C. Representative
D. Commissive
E. Rogative
F. Expressive
ANSWER: A
 “Wait until your father gets home.”
A. Directive 
B. Declarative
C. Representative
D. Commissive
E. Rogative
F. Expressive
ANSWER: A
“I’ve made a vow to stop drinking.”
A. Commissive 
B. Directive
C. Expressive
D. Representative
E. Rogative
F. Declarative
ANSWER: A
 “How long have you been feeling like this?”
[bookmark: _Hlk79048490]A. Rogative 
B. Commissive 
C. Representative
D. Declarative
E. Directive
F. Expressive
ANSWER: A

PHẦN TỰ LUẬN (7 điểm)
SECTION 1 (1.5 marks)
What is implied in the following utterances? (1.5 marks – 0.5 each)
Question 1: Husband: ‘Have you got ahold of Jim’
		Wife: ‘I’ve been trying to call him all day.’
What may the wife’s response implicate?
Đáp án câu 1: She failed to contact Jim.
Question 2: A: ‘Would you drive a Toyota?’
		B: ‘I wouldn’t drive any Japanese car.’
What may B’s response implicate?
Đáp án câu 2: He wouldn’t drive a Toyota.
Question 3: A: ‘Hey, coming to the wild party tonight?’
		B: ‘My parents are visiting.’
What may B’s response implicate?
Đáp án câu 3: B is not going to the party tonight.
SECTION 2 (2 marks)
Complete each of the following sentences in such a way that is an ENTAILMENT of the sentence printed before (→ is used to show one-way entailment and ↔ to show two-way entailment). (2 marks – 0.4 each)
Question 1: Uncle John designed the backdrop.
↔   The backdrop ------------------------------------------------
Đáp án câu 1: ↔The backdrop was designed by uncle John.
Question 2: The bank is in front of my house
↔   My house --------------------------------------------------
Đáp án câu 2: ↔The house is behind the bank.
Question 3: James repaired the pipe.
→   James -------------------------------------------------
Đáp án câu 3: →James repaired something.
Question 4: Jim sold a computer to Mark.
↔   Mark ------------------------------------------------
Đáp án câu4: ↔Mark bought a computer from Jim.
Question 5: Mary loved Tom.
→   Mary ---------------------------------------------------- 
Đáp án câu 5: →Mary loved someone.

SECTION 3 (1.5 marks)
 Identify the PRESUPPOSITION(s) in each of the following utterances. (1.5 marks, 0.3 each)
Câu 1 (0.3 điểm): “When did you receive the scholarship?”
Đáp án Câu 1: The utterance presupposes that you received a scholarship.
Câu 2 (0.3 điểm): “John pretends to be serious.”
Đáp án Câu 2: The utterance presupposes John isn’t serious.
Câu 3 (0.3 điểm): “My brother won’t attend the conference this afternoon.
Đáp án Câu 3: The utterance presupposes I have a brother and there will be a conference this afternoon.
Câu 4 (0.3 điểm): “No one realized Tom told a lie.”
Đáp án Câu 4: The utterance presupposes Tom told a lie.
Câu 5 (0.3 điểm): “I wish you could help me solve this problem.”
Đáp án Câu 5: The utterance presupposes you cannot help me solve the problem

SECTION 4 (2 marks)
Write your 2 OWN pairs of COMPLEX sentences with the same proposition and 2 with different propositions. (2 marks)
Đáp án: 2 pairs of complex sentences with the same proposition (1 mark; 0.5 each)
	2 pairs of complex sentences with different propositions (1 mark; 0.5 each)
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